Manuals+ — User Manuals Simplified.

@) AVTECT Q
59Inch Fixed
Frame Screen g

avitect 59Inch Fixed Frame Screen Instruction Manual

Home » avitect » avitect 59Inch Fixed Frame Screen Instruction Manual ™

Contents

1 avitect 59Inch Fixed Frame

Screen

2 Parts

3 Precautions

4 Assemble the frame

5 Assemble the screen

6 Outer Frame Installation

7 Screen Installation

8 Troubleshooting in case of waves

9 Specifications

10 FAQ

11 Documents / Resources
11.1 References

@) AVITECT

avitect 59Inch Fixed Frame Screen


https://manuals.plus/#content
https://manuals.plus/
https://manuals.plus/
https://manuals.plus/category/avitect
https://manuals.plus/avitect/59inch-fixed-frame-screen-manual.pdf
https://manuals.plus/#avitect_59inch_fixed_frame_screen
https://manuals.plus/#parts
https://manuals.plus/#precautions
https://manuals.plus/#assemble_the_frame
https://manuals.plus/#assemble_the_screen
https://manuals.plus/#outer_frame_installation
https://manuals.plus/#screen_installation
https://manuals.plus/#troubleshooting_in_case_of_waves
https://manuals.plus/#specifications
https://manuals.plus/#faq
https://manuals.plus/#documents_resources
https://manuals.plus/#references

Thank you for choosing to use our product! For your better use of the product, please read and keep this manual
carefully before installation and use. Due to the improvement of the product, the product you purchased may not
be the same as the description in the manual. We apologize for that!

Parts

{

R
Inner Frame/ Outer Frame / Corner connector / Corner Connector / Corner Protection /

Innerer Rahmen Ausserer Rahmen Eckverbinder Eckverbinder Eckenschutz

X6 X6 X4 X4 X4

Screen | Fiber glass strip / Supportrod [ Unter- 4mm hexagon wrench /
Leinwandtuch Glasfaserstabe stiitzungsleiste 4mm Sechskanntschlissel
X1 X6 X1 X1

A (optional)



Ny

Pull hook /[ Aus- Tension Spring / Top hang piece [ Obere M5 x 5 Pan hat screws [
ziehhaken Spannfedern Einhangleiste des Wandhalters M5 x 5 Rundkopfschrauben
X1 XN X2 X16

e - User Manual / Expansion Screws [ Bottom hang piece [ untere M4 x 8 Screws [
P e Bedienungsanleitung Schrauben Einhangleiste d. Wandhalters M4 x 8 Schrauben
X1 X X8 X2 X 24

((TTTRHAIITR

Level Ruler x 1

Precautions

1. To ensure the projection effect and quality of this product, please observe the following operating requirements.

2. When assembiling, find a suitable size floor or table. The surface must be clean and free of any obstacles. The
floor or table must be covered with clean materials such as cloth, film, blankets, etc.

3. Handle with care during installation to Prevent personal injury or property damage.

4. Do not touch the surface of the projection screen with your hand.

5. Do not touch the projection surface with sharp or hard objects to prevent damage to the screen material. Don’t
write or draw on the screen.

6. Keep children away from the screen to prevent accidents.

7. The surface of the screen must be cleaned and treated regularly, and it is recommended to take care of it once
every two weeks. Please use a soft cotton cloth to gently wipe (dip some water), and it is not advisable to use

any chemical cleaners or alcohol.




Assemble the frame

1. Open the packaging box and categorize and arrange the components properly, and cross-reference the
quantities with the “1.0 Parts” checklist.

2. The horizontal frame is a segmented splicing type, and the two horizontal inner frames are spliced
correspondingly as shown in the figure

(Note: There is a mark in the middle of the connecting rod of the inner frame, and the splicing position must be

e
# = Mark / Markierung

guaranteed to be at the mark).

Corner connector /
-ckverbinder

Corner alignment /
EckenAusrichten

4. Assemble the horizontal and vertical inner frames according to the picture below. After assembling the inner

frames, lock the corners with M5X5 screws, then install support rod.



EIE T rmETrT [

Corner Intermediate
connectors connectina rod
Tips: Put all the screws on first, align them, and then tighten them =
——— one by one
Flat push Flat push

Corner alignment

M5 x5
Corner alignment

Unterstutzungsleiste

Support rod

4=

Schraube
Support rod: should be
M 4>< 8 SCIGW perpendicular to the middle of
the frame /

Unterstitzungsleiste sollte
rechtwinklig zum Rahmen sein

Assemble the screen

1. Wear gloves (to avoid fingerprints on the screen that cannot be erased). Lay a clean cloth on a flat, clean level
countertop (or floor) that won’t hurt the screen.
2. Take out the screen from the package, put the screen face down, to unfold the curtain roll, spread it flat on the



cloth on the table, and then insert the glass fiber strips around the screen according to the length as shown

below.
Important Note: If it is an ultra-short throw ambient light rejecting screen, please cooperate with two people

during assembly, avoid screen folding or hard object friction impact action.

Screen projection side down

v

i
(/f Notice:
o

Be careful to avoid

scratching the screen
Vorsicht, nicht das Leinwandtuch _/
-\ verkratzen. _/

—L__-:‘f -
Cloth liner - :

L —

Tip: All fiberglass strips extend out the T
sapme Iengthgat both gnds of the screen kk\_///_{/ \L_\\.

| Die Glasfaserstabe sollten an beiden - Insert glass fiber
Seiten des Leinwandtuches gleich lang f \, strips all around
herausraacen.

FScreen projection
| sidedown |

£ A
&R j:/m““mﬂrcmth I ril
e

3. Place the assembled frame on the screen.

Note: This projector screen has up and down directions. The screen should match the direction of the frame.
Place the frame at the marking on the four corners of the backside of the screen and adjust the position of the

frame.



Ausrichtungsmarkierung
Alignment mark

Rahmen
Assembled
frame

Back of the
Schraubs

screen
M4 XE screw R[Jckseﬂte des
. Leinwandtuches

¢

r
Cloth liner Screen i
sauberes Tuch als Leinwandtuch UP marking on the
Unterlage back of the screen

4. Hook the screen on the frame with a tension spring. To hook the tension spring, please follow the following
sequence, first, hook 1~8 springs; then hook springs 9~12, and then hook other springs from the middle spring

to both sides in turn. Please refer to the attached drawing next page for the installation method of the tension

spring.



Glasfasarstab Spannfader
Glass fiber Spring

Innerer Rahman
— Inner frame

~Screen
Leinwandtuch

Ausziehaken
Pull hook Fiberglass Ausziehaken
Glasfaserstab CEE Full hook
; strip o
Fiberglass _ Glasfaserstab

strip

5. After hanging the spring, stand the screen up and check the overall flatness of the screen. If there is
unevenness, the spring needs to be adjusted locally until it is level.

6. 4.6 is restored to the position of 4.4, ready to install the frame.

Outer Frame Installation

1. Place the outer frame against the frame screen, align the four corners, and lock the inner and outer frames with
M4 x8 screws.

2. Adjust the outer frame at the corner to the smallest gap, and then tighten the screws. Lock the corners one by
one according to this method, and finally deal with the splicing of the horizontal outer frame (if the gap is found
to be too large, you can push the left and right outer frames inward)

3. Install the corner protection at the four corners of the screen.



M4 X3
Schraube
sSCrews

Schrauben Mutter
Screw nut

Intermediate

connecting rod %
Zwischenverbindungs-
leiste

Eckverbinder
Corner

connectors
Ausserer Rahmen

men N ben
Outside SCrows

Screw nut
Schrauben Mutte

Corner

protection Screen Inner frame

I mimrmandéneh Innarar Rahman

Screen Installation

1. First confirm the upper and under wall bracket and the installation direction

2. Install wall hangers on the wall according to screen size. Required tools: level, hammer, drill, pencil, ladder, etc.
As shown below, the horizontal direction is about 30cm away from both sides of the screen. Please estimate
the installation position of the screen before installing the wall pendants. The height of the lower edge of the
screen from the ground is generally, about 600 to 800mm.

3. Hang the screen on the wall as illustrated.

;3_0@.._| F ‘FBOcm
= | L wal
ﬂ | Wend
|
|
|
|

|
|
|
|
| ———+——Screen
|
|
|
|

7.5cm

Leinwand

Wall
Wand

Ly s, 2

60~80cm




'V'% There is a spring

. Aluminum alloy pendant
In the groove E

| / fixed on the wall

Metal plate can
~S moveup and down

A
Top hanging piece fixed Under hanging piece fixed




The Ranging |+
piece is buckled) ]
in from top 25 L5
i P
to bottom _ s -
3 Die Leinwand oben e -
ainhaken i i
|I “ Und Fertig '
| U, Finished AT
| - - -
S e
1. Die Leinwand unten Fup |-
an die Wand driicken k. 7 T,
FPush forward, P 2]
close to the wall .
® — “I H '
B TR Y
o

After inserting the lower
hanging piece, lift up to
compress the spring

Troubleshooting in case of waves

1. Remove the outer frame and use your gloves to pull the screen fabric from the center outwards along the edges
of the frame to smoothing it.
2. Please check if the screen fabric is tensioned into the 2. Notch with the springs. If not, please tension to the 2.

Notch. This will strengthen the screen fabric to the frame.



)5:. RRLRLLLY)
T

3. If there will be waves after a few months, this is very likely because of humidity changes / temperature
changes. Please retention the screen fabric. See 1.
4. If there are waves in the top middle, this is very likely because the top frame is a bit bent at the point of

connection. If you will put a foam behind the frame at this point, these waves will very likely be gone.

Wall
— ‘
/

Screen Frame

N

Wall

\*’_

Foam, Schaumstoff

5. If you see waves at all, use 2 springs in all edges, this should solve the problem to the inner notch. See photo:



Specifications

« Inner Frame: 6 pieces

« Corner connector: 4 pieces
« Corner Protection: 4 pieces
« Screen: 1 piece

o Pull hook: 1 piece

« Tension Spring: N pieces

« M5 x 5 Pan hat screws: 16 pieces
« Gloves: 1 pair

« User Manual: 1 piece

« Level Ruler: 1 piece

« Expansion Screws: 8 pieces

« Bottom hang piece M4 x 8 Screws: 2 pieces

FAQ

Q: What should | do if the screen fabric is not tensioned properly?
A: Check if the screen fabric is properly tensioned into the notch with the springs. If not, adjust the tension to
ensure a tight fit.

Q: How can | eliminate waves in the screen?
A: If waves appear, adjust the frame connections and use additional springs in all edges to ensure proper tension
and eliminate waves.

Documents / Resources



avitect 59Inch Fixed Frame Screen [pdf] Instruction Manual
59Inch Fixed Frame Screen, 59Inch, Fixed Frame Screen, Frame Screen, Screen

References

« User Manual

Manuals+, Privacy Policy

This website is an independent publication and is neither affiliated with nor endorsed by any of the trademark owners. The "Bluetooth®" word mark and logos are registered trademarks owned by Bluetooth
SIG, Inc. The "Wi-Fi®" word mark and logos are registered trademarks owned by the Wi-Fi Alliance. Any use of these marks on this website does not imply any affiliation with or endorsement.


https://manuals.plus/m/93da402ee67add098d3f71b701b598f5b9b99760e27046d8dbbe602940074872
https://manuals.plus/m/93da402ee67add098d3f71b701b598f5b9b99760e27046d8dbbe602940074872_optim.pdf
https://manual.tools/?p=16184178#MTA0LjI4LjIzNC4xNzg7Ozs7
https://manuals.plus/
https://manuals.plus/privacy-policy

	avitect 59Inch Fixed Frame Screen Instruction Manual
	avitect 59Inch Fixed Frame Screen
	Parts
	Precautions
	Assemble the frame
	Assemble the screen
	Outer Frame Installation
	Screen Installation
	Troubleshooting in case of waves
	Specifications
	FAQ
	Documents / Resources
	References



